SET -2

: Fz
Series : ONS/1 Code No. 67/1/2
N TRIETTT IS ol STR-GRH & TG-S
: W Ry e |
Roll No. Candidates must write the Code on
the title page of the answer-book.

o PUATSIT H A foh T T-0F H Higd I3 23 ¥ |

o UYA-UF H M &1 i 3R ST T hig TR Sl ST ITR-YHT o TE-I8 W o |

o FHUASEF A BT IA-ITH 23 U € |

o  FHUAT YT HT I oG I1& B | Uge, Y9 1 SHHis Havd ferdd |

o TU UNA-UF HI UgH % 1w 15 e i T @ man § | ueR-us 6 foeor geted | 10.15 &S
feFam ST 1 10.15 a1 ¥ 10.30 91 T B Ha TA-UF B UG 3 39 7@ %k IR o
ITR-GRTHT T g ST Tl [oraT |
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General Instructions :
(i)  This question paper contains two parts A and B.
(ii) Part A is compulsory for all.
(iii) Part B has two options — Option — I Analysis of Financial Statements and Option — I1
Computerized Accounting.
(iv) Attempt only one option of Part B.
(v) All parts of a question should be attempted at one place.
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U - %
PART - A

(AT GHT T HwiEt & e sraie)

(Accounting for Partnership Firms and Companies)

1. T80 T91 G U BH & QAR & G941 3 : 2 % 30 | o sied & | 31-3-2015 o gaTe
T | THRA 7 ¥ 15,000 T 3TEI0T [HAT | 3T SME0T W A1 T 300 o7 |
I A §U o WIRIGRT <l UST T o, 3T/@or R SIS ol o lT STeees ISt
fafte T |
Nusrat and Sonu were partners in a firm sharing profits in the ratio of 3:2. During the

year ended 31-3-2015 Nusrat had withdrawn ¥ 15,000. Interest on her drawings

amounted to ¥ 300.

Pass necessary journal entry for charging interest on drawings assuming that the

capitals of the partners were fixed.

2. “TRUTOH YMEF BT S o (A0 ST AU, 2013 & UEHHl 6 Seoid iy |

State the provisions of the Companies Act, 2013 for the creation of ‘Debenture

Redemption Reserve’.

3. H,@AATUR HH H WEIGR & T3 : 2 ; 1 & A § A died & | 3= o & 1/8 AT
% o0 o o1 U 741 FERr o9 N9 S99 1/16 9T @ " 997 1/16 90 T F U A |

%, @, T T T & T AN 3T St TTUET BT |

A, B and C were partners in a firm sharing profits in the ratio of 3:2:1. They admitted D
as a new partner for 1/8" share in the profits, which he acquired 1/16™ from B and 1/16"

from C.

Calculate the new profit sharing ratio of A, B, C and D.
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4. 1-1-2016 it FiEAT fames gRT FmE 68 T 1,00,000 FHAT ST 9 I 3 Ui 37T A0 7=
FraeT TRT 3T B M | 500 S F U YRS HA F TAH AT T HT P Tél A |
1000 37T 3 Teh LR ST = WoH AT o T T 5 U 3797 60 SO qm 37w e
YT BT T off Y A |
HIAT Y Q] | TG AT Wl T4 YEg AT Wl et U AT ST & graf-ed
3MEAYTE ST WA HIT | 1

On 1-1-2016 the first call of ¥ 3 per share became due on 1,00,000 equity shares issued
by Kamini Ltd. Karan a holder of 500 shares did not pay the first call money. Arjun a
shareholder holding 1000 shares paid the second and final call of ¥ 5 per share along
with the first call.

Pass the necessary journal entry for the amount received by opening ‘Calls-in-

arrears’ and ‘Calls-in-advance’ account in the books of the company.

5.  OEER % fgueT a97 WERR BF o fueT % " SfiUe R % YN 0T 3T
T | 1

Distinguish between ‘Dissolution of Partnership’ and ‘Dissolution of Partnership Firm’

on the basis of ‘Economic Relationship’.

6. U GEER™ ®H U Auchdd fhdd 9ERR & 96 & ? 39 a9 &1 9" gaee fSad
AR FH & ATIHaq IR & folT Urere = 63 T ¢ | 1

What is the maximum number of partners that a partnership firm can have ? Name the

Act that provides for the maximum number of partners in a partnership firm.

7. 4-3-2016 I MH.IR, fedffmes 3 T 500 9% & 975; 9% FOE & (ET fmar |
TRl o SROTOET & 9T &t 3TTeredeh ASTHTE= Uieteal shifsiy

(%) T RO BT 10% % WHEH 9 AT T 99 396 A 6% % AR I
ERISICIEN

(@) ST FOTE 1 T Ted W TR T TT ST I 9% % e WX foRar ST
T 3
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VKR Ltd. issued 975; 9% Debentures of I 500 each on 4-3-2016. Pass necessary
journal entries for the issue of debentures under the following situations :

(a)  When debentures were issued at a premium of 10% redeemable at a premium of
6%.

(b) When debentures were issued at a par redeemable at 9% premium.

8.  Togahi Tl USHIR TS i &q TT STUIE o FRIel TTTad USe &5l o foeh § wgradr
% o0 weg feifies 3 a8l W U IR Wiie o 1 o fRar | &9 Ushid s & foT
FHEAT T T 10 F&F F 7,50,000 THAT I B 50% F AT W HHT B B o
o | dt STORIeT SERT W3 o | 20,00,000 3T & fOW 27esT U g¢ 1 50,000 37w
% foTT STEEHT T ¥E Y 53T 9T TT 99 STEEHh i SIS STHR U 3790 HT STEA BT
fear = |

ST ST & [T HEAT 1 J&Ahl H STEvdd ASHHET Wiaresr HifsTg qor oF
feFel 3T Aol ol TEd hifsTq Foeg SHPoet e e =t € |

To provide employment to the youth and to develop the Naxal affected backward areas

of Chattisgarh. X Ltd. decided to set-up a power plant. For raising funds the company
decided to issue 7,50,000 equity shares of I 10 each at a premium of 50%. The whole
amount was payable on application. Applications for 20,00,000 shares were received.
Applications for 50,000 shares were rejected and shares were allotted to the remaining
applicants on pro-rata basis.

Pass necessary journal entries for the above transactions in the books of the
company and identify any two values which X Ltd. wants to propagate.

9. HUER e fafres 3 = fafes &t T 14,00,000 st Tfaar dom T 4,00,000 i T
T AR 3 9,19,000 H THaT | THER 3vear fafmes 7 60 A1 & 99arq <3 T 17,000 &
TS U0 1 A =S TAe o fohar @2 919 T 31 a3 100 Tedeh o qHaT 37er
1 T 25 % e 9¥ i see 6 |
ST oAl % o0 TR sfvear fofes @ qw 9 oTevasd AsHer ufafeat
HITT |
Samachar India Ltd. took over the assets of I 14,00,000 and liabilities of ¥ 4,00,000

from News Ltd. for a purchase consideration of X 9,19,000. Samachar India Ltd. issued a
promissory note of ¥ 17,000 payable after 60 days in favour of News Ltd. and the

balance amount was paid by issue of equity shares of ¥ 100 each at a premium of I 25
per share.

Pass necessary Journal entries for the above transactions in the books of Samachar
India Ltd.
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10. (i) 78 WERR % WO, (ii) T TIERR o1 3TTheT T80T a9 (iii) U HIZRR & e % e
fohel UG di el o1 Sooi@ ShiTSTT STe TH ol AT o 70T i SERaehdl 2l @bl & | 3

State any three circumstances other than (i) admission of a new partner; (i1) retirement of
a partner and (ii1) death of a partner, when need for valuation of goodwill of a firm may

arise.

11. Toepm, foemet dom ave s %H o TRIRR & q91 2 : 2 : 1 o 39 | o dfed o | &Y 3191
&I Ui a9 31 W A Hl § | 31-12-2015 B OE H @l & T | 39 T @
3T Ui @i | 3,80,000 T STHT IT AT G947 FH hI @AM 1 Joaish— T 1,20,000 fan
AT | AR @ H % 50,000 3 A 99 A1 | G % a9 § oel & o i 0T fumer o
T o A T & SR W Sl ST | et o aut 61 3| o 3 75,000 1 |

AT & T T & Sl QAT § STEvash AT Hiafteal Hitey | 4

Vikas, Vishal and Vaibhav were partners in a firm sharing profits in the ratio of 2:2:1.
The firm closes its books on 31* March every year. On 31-12-2015 Vaibhav died. On
that date his Capital account showed a credit balance of X 3,80,000 and Goodwill of the
firm was valued at ¥ 1,20,000. There was a debit balance of ¥ 50,000 in the profit and
loss account. Vaibhav’s share of profit in the year of his death was to be calculated on
the basis of the average profit of last five years. The average profit of last five years was

< 75,000.

Pass necessary journal entries in the books of the firm on Vaibhav’s death.

12. O G Y, UH B & WEER & qAqT S5 ;3 F S H AN aed 4 | 1-4-2014 H 3H o
% 1/8 9T % T ST, I U FT HEER @7 a7 39 T 75,000 o 1 i TRl & 78 | O,
TqAT Y, T AT AN ST Teel ST I = 3R, Tl MRSl o HRT g ot off et &t
3:2 % U H d8d HH W WeHd g | 31-3-2015 S U §C a9 H WH FH AN

34,00,000 & |

31 =, 2015 1 FANC §C a9 & o Ot R, qA AR, H AM-gIA fafEsE @
TR HIT | 4
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P and Q were partners in a firm sharing profits in the ratio of 5:3. On 1-4-2014 they
admitted R as a new partner for 1/8" share in the profits with a guaranteed profit of
T 75,000. The new profit sharing ratio between P and Q will remain the same but they
agreed to bear any deficiency on account of guarantee to R in the ratio 3:2. The profit of
the firm for the year ended 31-3-2015 was ¥ 4,00,000.

Prepare Profit and Loss Appropriation Account of P, Q and R for the year ended
31-3-2015.

13. o 97 €. U BH & WERR & AT 3 : 2 % S § o Sted I | 28-2-2016 H HH H
forees 21 T | Tl (e S BIEH]) qAT ST ITAIST Hl aGel Wi H IR e 6
Wﬁmﬁﬁwﬁﬁﬁﬁ%

(®) ¥ 2,00,000 F TH TR 7 T 2,80,000 % 9aF Hl T 2,20,000 § & forar q=m wH &t
% 20,000 T T & {324 |

(@) 75,000 % TH TR AR T T 60,000 F TR BT 379 19 % go7 Foer § @idr
o |

(M ¥ 80,000 % T TR @HER A 39 31 & U7 HUeR &g T 20,000 T8 @21 % 65,000
I o & (HoreT TR 7 |

(@ faEeT W T 7,500 H A EE
g TH gU S T PTAE A% gR 6 T, SW el & ol ®H St gl |
YA ST Ut iy |

C and D were partners in a firm sharing profits in the ratio of 3:2. On 28-2-2016 the firm

was dissolved. After transferring assets (other than cash) and outsiders’ liabilities to

realization account you are given the following information :

(a) A creditor for ¥ 2,00,000 accepted building of ¥ 2,80,000 at ¥ 2,20,000 and paid
the firm ¥ 20,000.

(b) A second creditor for I 75,000 accepted furniture at ¥ 60,000 in full settlement of

his claim.

(c) A third creditor amounting to I 80,000 accepted ¥ 20,000 in cash and investments
of the book value of T 65,000 in full settlement of his claim.

(d) Loss on dissolution was I 7,500.
Pass necessary journal entries for the above transactions in the books of the firm

assuming that all payments were made by cheque.
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39T, HIH T I Ush BH o |BRR 4 947 3 : 2 : 1 & 3FAd | o9 ded & | 31-3-2015
= 3TehT Tt ToreroT fiy vep 9
31-3-2015 T ATNF, HH 4T I 1 ey faazor

® ®

GREALE 1,00,000 | 9= 1,00,000

37 faet 40,000 | & 1,00,000

= G99 60,000 | e 2,00,000

Tt LD 80,000

3wWmE  2,00,000 TR 60,000

o 1,00,000 EED 10,000
GGG 50,000 | 3,50,000

5,50,000 5,50,000

1 30, 2015 9 3790, HH q&97 T  WiosT § A sSE-ae) died &1 o forar | 39
fote o7 Tweiiar gon T
(i) H B T B gediw < 3,00,000 fHaT S|
(i) 9 1 gAHEA T 1,60,000 W AT S TG 999 W 6% Gedg™ AT S|
(iii) ¥ 12,000 % TSR IMET FKIT &l BT 3T: 7€ SATArad X 1§91 STHT A6y |
AR T, WIRIRRT & USTt @I 721 Jiied H o fefd faaRor qar shifse | 6

Ashok, Bhim and Chetan were partners in a firm sharing profits in the ratio of 3:2:1.

Their Balance Sheet as on 31-3-2015 was as follows :

Balance Sheet of Ashok, Bhim and Chetan as on 31-3-2015

Liabilities Amount Assets Amount
) (J]

Creditors 1,00,000 | Land 1,00,000

Bills Payable 40,000 | Building 1,00,000

General Reserve 60,000 | Plant 2,00,000

Capitals : Stock 80,000

Ashok 2,00,000 Debtors 60,000

Bhim 1,00,000 Bank 10,000
Chetan 50,000 | 3,50,000

5,50,000 5,50,000
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Ashok, Bhim and Chetan decided to share the future profits equally, w.e.f. April 1,

2015. For this it was agreed that :

(1)
(ii)
(iii)

Goodwill of the firm be valued at ¥ 3,00,000.
Land be revalued at ¥ 1,60,000 and building be depreciated by 6%.
Creditors of ¥ 12,000 were not likely to be claimed and hence be writtenoff.

Prepare Revaluation Account, Partners’ Capital Accounts and Balance Sheet of

the reconstituted firm.

15. 1-4-2013 &l .U, fAfee o 99 3 100 I8 & 5,000; 10% 0107 36T & |

@

(i)

1-4-2014 T HEA 7 Gt IR F 2,000 A 3 HKOTHAT B 6T T 105 TAF B ST
fopa e 3¢ R | X AT |

1-4-2015 3t A 3 e FRT T 1,00,000 3 FOTHHAT T 9 FHHeT W fFaT |

(iii) 28-2-2016 %I I VTG T 3T T ¥& A & [T T 1,97,000 H fHar T |

FOTTS TN BT TAT FOTIHAT 0 S Bl A § 7 o0 gU SIS A=Al o [T Bt
! QAR H ST IS Tiafeat iy |

On 1-4-2013 KL Ltd. had 5,000, 10% Debentures of X 100 each outstanding.

@

(i)

On 1-4-2014 the company purchased in the open market 2000 of its own

debentures for I 105 each and cancelled the same immediately.

On 1-4-2015 the company redeemed at par debentures of ¥ 1,00,000 by draw of a

lot.

(ii)) On 28-2-2016 the remaining debentures were purchased for immediate

67/1/2

cancellation for ¥ 1,97,000.

Pass necessary journal entries for the above transactions in the books of the

company ignoring debenture redemption reserve and interest on debentures.
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16. &, @ T 7T TH ®H o TRRR & TAT 3 : 2 : | 3 3 | o died & | 31-3-2015 T 36

67/1/2

Tt foeror e U & o

31-3-2015 &1 &, T qAT 71 7 feafa faaror

® ®
SRS 84,000 | S 17,000
= G 21,000 | 3_R 23,000
TS i 1,10,000
F 60,000 ferer 30,000
T 40,000 T T TRl 10,000
T 20,000 1,20,000 | Tef==t 35,000
2,25,000 2,25,000

SUET {1 ol & T Ueh a7 WIEISR ST T4 °7 I8 {01 ferar 7 i
(i) o, @, T A" B AT AN AT 2: 2 1 1 W

(i)
(111)
(iv)
v)
(vi)

AT

HH T T BT JedihT T 90,000 AT 72T qAT & 310 AT T @AM WHITT 775 AT |
TTereTt &1 TR 7o % 24,000 27 |

HRIWRE 3l % 29,000 T FHH fohaT SR |
% 3,000 T T SRR 3T0T STalT U7 &l SHOT 37d: T 3Tfeirad foham S |
TEI T o & 1/6 9 % TeIT STaides USt o |
JHER G, WIEIRRI & UsTl @I 727 gAiiad ®H i i fgeior dam i |

TS, 9T AT ST Ush TH & WTEIRR & q41 5 ¢ 3 : 2 & Fad § oy sed & | 31-3-2015

37ehT Teifa foreor 7 vt | o -

31-3-2015 ! T, T3, 94T A T eIty faaror

®) ®)

[REILS 21,000 | i 7T o 62,000
T SAR=eT™ ST 10,000 | HieT o= 20,000
TTY-BI @ 40,000 | et 19,000
it TR 12,000
TR, 50,000 i 15,000

g 40,000 ITRR 40,000
g 20,000 1,10,000 | o2& : wee= 3,000 37,000
THS 16,000
1,81,000 1,81,000

9
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ST fdfr sl T, 3 3TahIeT URUT Y fordn oo Uy, Ud S, 3 (7 91 W e d™
& =] @ T o fora

(1) Y = @ 1 geais 3 51,000 far mar |
(2) FHHART &Ifqqfd &1 T 4,000 T T I AT |
(3) A FON % T wrEe = 1 3 1,000 T HH HAT o7 |

(4) @TE. B T 8,200 HT T A fhAT TR q4T IT ol TR 3T F0T GId H
fear ST, ST A AR SXeR aides fRvel ° 10% Wid 99 @S & ar e

SR |
(5) USRH. TAT SIE & A 4T oW STUTT 3 ¢ 2 BN AT Skt YSit A3 & ST H gl |
TSI FHTEISH =16] @I Gietshe fHaT STRAT |

e R W, WIEIRRT % Gl @I & Jiied %1 i e foaror 4o ifse |

A, B and C were partners in a firm sharing profits in the ratio of 3:2:1. On 31-3-2015
their Balance Sheet was as follows :

Balance Sheet of A, B and C as on 31-3-2015

Liabilities Amount Assets Amount
®) ®)

Creditors 84,000 | Bank 17,000
General Reserve 21,000 | Debtors 23,000
Capitals : Stock 1,10,000
A 60,000 Investments 30,000

B 40,000 Furniture & Fittings 10,000

C 20,000 1,20,000 | Machinery 35,000
2,25,000 2,25,000

On the above date D was admitted as a new partner and it was decided that :

(i)  The new profit sharing ratio between A, B, C and D will be 2:2:1:1.

(i) Goodwill of the firm was valued at ¥ 90,000 and D brought his share of goodwill
premium in cash.

(i11) The market value of investments was 3 24,000.

(iv)  Machinery will be reduced to I 29,000.

(v) A creditor of ¥ 3,000 was not likely to claim the amount and hence to be written-
off.

(vi) D will bring proportionate capital so as to give him 1/6™ share in the profits of
the firm.

Prepare Revaluation Account, Partner’s Capital Accounts and the Balance Sheet
of the reconstituted firm.
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OR

X, Y and Z were partners in a firm sharing profit’s in the ratio of 5:3:2. On 31-3-2015
their Balance Sheet was as follows :

Balance Sheet of X, Y and Z as on 31*' March, 2015

.t evese Amount Amount
Liabilities ® Assets ?)
Creditors 21,000 | Land and Building 62,000
Investment Motor Vans 20,000
Fluctuation Fund 10,000 | Investments 19,000
P & L Account 40,000 | Machinery 12,000
Capitals : Stock 15,000

X 50,000 Debtors 40,000

Y 40,000 Less : Provision 3,000 37,000

Z 20,000 1,10,000 | Cash 16,000
1,81,000 1,81,000

On the above date Y retired and X and Z agreed to continue the business on the

following terms :

ey
2
3)
C))

(&)

Goodwill of the firm was valued at ¥ 51,000.
There was a claim of ¥ 4,000 for Workmen’s Compensation.
Provision for bad debts was to be reduced by I 1,000.

Y will be paid X 8,200 in cash and the balance will be transferred in his loan
account which will be paid in four equal yearly instalments together with interest
@ 10% p.a.
The new profit sharing ratio between X and Z will be 3:2 and their capitals will
be in their new profit sharing ratio. The capital adjustments will be done by
opening current accounts.

Prepare Revaluation Account, Partners’ Capital Accounts and the Balance

Sheet of the reconstituted firm.

17. %Ug. Mg 3 T 10 5% & 1,60,000 THAT 3790 &1 T 6 Uld 37971 & 2ATgey 9 HHiHd &
& feT 3ree = v | Ofer g e 9 2 o

67/1/2

AT W — T 4 Ufa 3797 (3 1 Ui 3797 & 3TfeetnT |iea)
3MeeT W — % 6 Wiq 3197 (3 3 fa 3197 o WitHaw HAed)

T T AR I W — 99
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3,20,000 3797 % TeIT STMERT U T 1 80,000 37T o foTu 3eg=1 i I8 Y &
AT AT LT T FHT S TE | A TGRSR SMER T 379 T 37l HY 2
T | STEET U AT ST YT T FHEISH STeed WX 37 T § Y fordr @ 1 800 37
% YR S A 3TE AR T T el BT | 3Teed & R Uvard 39k ST I &0
T Toram T | 37k I AT e " T | e S 1200 3T % [T seEd
off, ST T 1 PTAH I § STHEA W@ | 3Tk ST T o F07 K fordn T | &2 o
T 3R H ¥ 1000 3T Rl T 8 Uit 37T IO R U it o fean w1 g Fitea iR g
39T & S o &R07 ol T et afer afefera o |

ST e % o1t .uq, feAfHee sl q&dehi H 2Tewash ASHHET Hiaftedr $hiteg |
Frran
ST, fafaee 3 % 10 9% & 50,000 FHAT ST 6 I 2 Uid 3791 % 3ty W e femar
ST 3o ART & W 9F o1 | FRTEE | St STt s ettt e TR | 3,
T Tel T AR |

it Sf. fafiee
RIS
T | Am | S
fafer feramor g | wiw | W
R | ®
2015,
SH100 | e T
(70,000 37® & 1. T 5 ufq ofer Mifmaw Afed
AT T T &%)
” 16 AT 39T SATERH QT qm

(3TMERT TRT 1 3797 G, wfeyfa witqay @ §
THIRT, 8000 379N % feTT IE i ST T b
TG T T B FHESH €T W T AT A
FH 3T H 3 STFUNAH MaR WX fohan
™)
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3T 27
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(T 4 91q 3797 I T W 3T 3Tee M)
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(3T WX 5T IS 3T T <hY)

................ Eite)
(VT AT AT AT TR < )
................ Eite)
3T AT T el am
(VT T 3~ AT O T 019)
................ Eit:)

................ A
................ A

)

1,500

KS Ltd. invited applications for issuing 1,60,000 equity shares of I 10 each at a

premium of X 6 per share. The amount was payable as follows :

On Application X 4 per share (including premium ¥ 1 per share)

On Allotment % 6 per share (including premium ¥ 3 per share)

One First and Final Call — Balance.

67/1/2
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Applications for 3,20,000 shares were received. Applications for 80,000 share
were rejected and application money refunded. Shares were allotted on pro-rata basis to
the remaining applicants. Excess money received with applications was adjusted
towards sums due on allotment. Jain holding 800 shares failed to pay the allotment
money. His shares were forfeited immediately after allotment. Afterwards the final call
was made. Gupta who had applied for 1200 shares failed to pay the final call. This

shares were also forfeited. Out of the forfeited shares 1000 shares were re-issued at ¥ §

per share fully paid up. The re-issued shares included all the forfeited shares of Jain.

Pass necessary journal entries for the above transactions in the books of KS Ltd.

OR

GG Ltd. had issued 50,000 equity shares of ¥ 10 each at a premium of ¥ 2 per share
payable with application money. The incomplete journal entries related to the issue are
given below. You are required to complete these blanks.

67/1/2

Books of GG Litd.
JOURNAL
Debit Credit
Date Particulars Amount | Amount
R) R)
2015,
Jan. 10 Dr.
To.ooooeeeee
(Amount received on application for 70,000
shares @ X 5 per share including premium)
716 Equity Share Application A/c Dr.
TO ciiii i
TO i
TO ceiii e
TO i
(Transfer of application money to share capital,
securities premium, money refunded for 8000
shares for rejected applications and balance
adjusted towards amount due on allotment as
shares were allotted on Pro-rata basis.
731 | e Dr.
To .o
(Amount due on allotment @ ¥ 4 per share)

14




Feb. 20

April 01

Aug. 27

Oct. 3

................ Dr.
To covvviein

(Balance amount received on allotment)
................ Dr.
To covvviin

(First and final call money due)

................ Dr.
Calls-in-arrears A/c. Dr.
To oovviiie

(Money received on first and final call)
................ Dr.

To oo
(Forfeited the shares on which call money was
not received)

................ Dr.
................ Dr.
To ..

(Re-issued the forfeited shares @ 8 per share
fully paid up)

................ Dr.

1,500
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18.

19.

20.

67/1/2

que-g

PART -B

faea - 1

Option -1
(fareier feraomt 61 fergeraoT)

(Analysis of Financial Statements)

Thg YaTE ToaRT R i & 3299 § Uhe qod’ 1 37 T | 1

Give the meaning of ‘Cash Equivalents’ for the purpose of preparing Cash Flow

Statement.

Teh SEH Wa(cal qm 0T T &R s a7 AR & 3299 ¥ Y Febell & U feafqd & 3
T:fasha o fotw stfemreon fohd 21 A6 & Q9 B € 1”3 98 HUF T € 2 UHE TaTe faeror
TIR S GHT T THR T Al & g7 Ahe U fh UHR i Tidrary & i
aieper femam STTaem 2 1

‘An enterprise may hold securities and loans for dealing or trading purposes in which
case they are similar to inventory acquired specifically for resale.” Is the statement
correct ? Cash flows from such activities will be classified under which type of

activity while preparing Cash Flow Statement ?

(F) TH ®H R BT & PO B ArAAT TAT SR ARG T SRl AAdT
U ST “fori oot o foretoor &7 U 3299 § | 39 fawermo % el & 3T

SR T oo HIT |

(@) U T 3-8t URT % AT gy N St St 2013 g 11 % AR ot
FHEHT & feaf fgeRor § o =1e] ST’ qur ‘g 9] gHiadr % ST g9
ST | 2+2=4

(a) One of the objectives of ‘Financial Statements Analysis’ is to judge the ability of
the firm to repay its debt and assessing the short-term as well as the long-term
liquidity position of the firm. State two more objectives of this analysis.

(b) Name any two items that are shown under the head ‘Other Current Liabilities’
and any two items that are shown under the head ‘Other Current Assets’ in the

Balance Sheet of a company as per Schedule III of the Companies Act, 2013.
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21.

22.

() HEEE hl TLAAT T 7 31 € 2

(@) = oA ¥ JEeH SO S 0T i
T § 3T T 6,80,000; AN WX Hehet ST 3T 25%; fosha =213 3 1,44,000;

R =7 X 73,000.

(a) What is meant by ‘Liquidity of Business’ ?

2+2=4

(b)  From the following information calculate operating ratio :

Revenue from operations % 6,80,000; Rate of Gross Profit on cost 25%; Selling
expenses <1,44,000; Administrative expenses < 73,000.

31 BT, 2015 I TET gC a9 & folw 9 sfvean fafads o em-aif foeror e ver €

e

faawor )
.

31-3-2015
)

31-3-2014
®)

HEHA F TH
I A
FHIRT Teqem =aa
= =g

FT I

25,00,000
1,00,000

Fl TTH T 60%

FHHAR! fedem™ =9 F 10%
50%

20,00,000
5,00,000

Fl TTH T 50%

FHARS fedoms =2 1 20%
40%

T 3foea fAfee o STESI-aTe, UM ST o IcA1a Shich STeRT [oleoT HIRA o THI0T
g T AT | ST U e F B §U U & IEY Tl STie delt Uoh Tgeh o FHI0T St A
o S T | GF & (U0 H I TG Bl T ST BN T IR A B ASTIR S

fw Mo eI foeRer ¥ oA A-E faaRur R SIS qer oY TRl q1 godt ot

Tee i ShifST 52 SHeT o7 Bl Ui S Tedl & |

Following is the statement of Profit and Loss of Sun India Ltd. for the year ended 31%

March, 2015 :

Particulars

Note 31-3-2015
No. ®)

31-3-2014
®)

Revenue from operations
Other Income
Employee benefit-expenses

Other expenses

Tax Rate

25,00,000
1,00,000

10% of
benefit expenses

50%

60% of total Revenue

employee

20,00,000
5,00,000

50% of total Revenue
20% of

benefit expenses

40%

employee
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The motto of Sun India Ltd. is to produce and supply green energy in the rural
areas of India. It has also taken up a project of constructing a road that will pass
through five villages, so that these villages could be connected to the nearby town.
It will use the local resources and employ local people for construction of the road.

You are required to prepare a Comparative Statement of Profit and Loss of Sun
India Ltd. from the given statement of Profit and Loss. Also identify any two values

that the company wishes to convey to the society.

23.  31-3-2015 %l %3, feifqes o1 et fgarer =1 uer 4 o
F . fafiree 31-3-2015 =1 ferfa faawor
et Sy | 31-3-2015 | 31-3-2014
® ®
I WTH?JITW :
(1) 3TeTERy At
(37) 3791 Gt 10,00,000 | 8,00,000
(F) T TS ST 1 4,00,000 | (1,00,000)
(2) 3= A
ST 0T 2 9,00,000 | 10,00,000
(3) =] g
(37) CTERICAT 0T 3,00,000 | 1,00,000
() A 4 1,40,000 | 1,80,000
FA : 27,40,000 | 19,80,000
II. uRumfaat
(1) 3Tt aREmaT
(37) T FEIEr
() 7 20,06,000 | 14,40,000
(ii) o 6 40,000 60,000
(@) 3= e 2,00,000 | 1,50,000
(2) =Te] uRgEET
(37) =T e 7 1,00,000 | 1,20,000
() T (AT 2,14,000 90,000
(F) Thg AT Uhg e 1,80,000 1,20,000
FA 27,40,000 | 19,80,000
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i A

=ﬁ;r P— 31-3-2015 | 31-3-2014
g ®) ®)
1 TIg UG AT
ST (ST-2T foreRoT 7 9i) 4,00,000 | (1,00,000)
4,00,000 | (1,00,000)
2 TR 0T
12% 019 9,00,000 | 10,00,000
9,00,000 | 10,00,000
3 TAEHTCA 0T
EEZIIcEa) 3,00,000 | 1,00,000
3,00,000 | 1,00,000
4 BT W
T TS 1,40,000 | 1,80,000
1,40,000 | 1,80,000
5. T gt
NIRRT 24,06,000 | 16,42,000
THRET JodeTd (4,00,000) | (2,02,000)
20,06,000 | 14,40,000
6. 3T IRt
eIt 40,000 60,000
40,000 60,000
7. | Wi (AT
NS &k 2,14,000 90,000
2,14,000 90,000
rfata T

(i) 12% FOTO=T 1 IMe 31-3-2015 ot fopar T |
(i) a9 " T 1,40,000 T HT P foHaT 74T |
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Following is the Balance Sheet of K.K. Ltd. as at 31-3-2015 :
K.K. Ltd. Balance Sheet as at 31-3-2015

Note | 31-3-2015 | 31-3-2014
Particulars
No. ®) ®)
I. Equity and Liabilities :
(1) Shareholders’ Funds :
(a) Share Capital 10,00,000 8,00,000
(b) Reserves and Surplus 1 4,00,000 | (1,00,000)
(2) Non-current Liabilities :
Long-term borrowings 2 9,00,000 | 10,00,000
(3) Current Liabilities :
(a) Short-term borrowings 3 3,00,000 1,00,000
(b) Short-term provisions 4 1,40,000 1,80,000
Total : 27,40,000 | 19,80,000
II. Assets :
(1) Non-current Assets :
(a) Fixed Assets :
(i) Tangible 5 20,06,000 | 14,40,000
(ii) Intangible 6 40,000 60,000
(b) Non-current Investments 2,00,000 1,50,000
(2) Current Assets :
(a) Current Investments 1,00,000 1,20,000
(b) Inventories 7 2,14,000 90,000
(c) Cash and Cash Equivalents 1,880,000 1,20,000
Total : 27,40,000 | 19,80,000
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Notes to Accounts :

Note 31-3-2015 | 31-3-2014
Particulars
No. ®) ®)
1 Reserves and Surplus
(Surplus i.e. Balance in Statement of
4 1
Profit and Loss) 00,000\ (1,00,000)
4,00,000 | (1,00,000)
2. Long-term borrowings :
12% Debentures 9,00,000 | 10,00,000
9,00,000 | 10,00,000
3. Short-term borrowings :
Bank Overdraft 3,00,000 1,00,000
3,00,000 1,00,000
4. Short-term provisions :
Provision for tax 1,40,000 1,80,000
1,40,000 1,80,000
5. Tangible Assets :
Machinery 24,06,000 | 16,42,000
Accumulated Depreciations (4,00,000) | (2,02,000)
20,06,000 | 14,40,000
6. Intangible Assets :
Goodwill 40,000 60,000
40,000 60,000
7. Inventories :
Stock in trade 2,14,000 90,000
2,14,000 90,000

Additional Information :

@)

12% Debentures were redeemed on 31-3-2015.

(i) Tax ¥ 1,40,000 was paid during the year.
Prepare Cash Flow Statement.
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PART -B
faea - 11
Option - 11
(erfireser eraie)

(Computerized Accounting)

HIHTIHIUT Sl T 329 & 2

What is the purpose of normalization ?

St Tiogd T T 37 § 2

What is meant by ‘Key Field” ?

AT TG JUTIe! & feheel =’ AT &l Sooiid ity |

State any four advantages of Computerized Accounting System.

TY-EI & fohel T SU-amt =l GH=ATT |

Explain any four sub-groups of Profit and Loss.

SR G H @l T SATRh Se-dg e&dd vi@ichT ¥ HIH A & | hd ?

Internal manipulation of records is much easier in computerized accounting than in

manual accounting. How ?

RO T IRGRASR R & | T8 § 3T O A7 1 37ehen forar | 39 get o
12,000 € | =7 g1 & TSI T SUART FH¥eh SHHT (%) ST ol o, (W) T O,
(T & TohRTaT ST e () TieeT =T, St IO el o G QI |

QAT .

A T 30 FHEHR! a9 § | FEME W 8T 40%, GIATESRI R & [0 8 6 e g
AT B 25%, T-GRAETR =% & T Je B o= 9ot odq & 15%, UReed =
GIETESRI W% % 1T 3 1,000 Ui 718 q41 9Ree 9T TR-GIREmEsRl W% % faw T 500 afd
e T |
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On the basis of the following information using Excel give the formulae to compute :

(a) Basic pay earned; (b) D.A.; (c) House Rent Allowance and (d) Transport
Allowance of Nargis who 1s a Non-supervisory staff. She took a leave for three days
during the month. Her basic pay is I 12,000.

Information :

Number of working days in the month are 30. Rate of D.A. 40%, HRA rate for
supervisory staff is 25% of basic pay, HRA for non-supervisory staff 15% of basic
pay, Transport allowance for supervisory staff ¥ 1,000 per month and Transport
allowance for non-supervisory staff ¥ 500 per month.
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